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oK 2 oA kT o A B myl 0. 1MUF < 0.01 < 0.01
D 7 v it & 4| mg/l 1UF <01 < 0.1
" i< i b & | mg/1 1UF <01 < 0.1
#h )3 [0 % D it & | mg/l 0. 1UF < 0.01 < 0.01
N il 7 =] A b & | mg/1 0. 5UF < 0.05 < 0.05
it # Kk O £ o fb & W me/l 0. 1MUF < 0.01 < 0.01
KR T X VKB Z O KBIILE B ne/l 0. 005LLF < 0.0005 < 0.0005
oo X vk ok & | megl BOH S Aok < 0.0005 < 0. 0005
N U b (4 v 7 = = | mg/l 0. 003LF < 0.001 < 0.001
k y v 0w =m = F L | m 0. 3LTF < 0. 001 < 0.001
7 k 7 7 =] z = F L v mg/l 0. 1LF < 0.001 < 0.001
4 7 =] = * Z | me/l 0. 2LTF < 0.02 < 0.02
] i 1t 17 #| mg/l 0. 02UF < 0.002 < 0. 002
1, 2 - ¥ 7 v uw = % ¥ my 0. 04LTF < 0.004 < 0.004
1, 1 — ¥ 7 v o = F L v m 1 UL F < 0.02 < 0.02
2 =1, 2 Y27 mua=xF L ngl 0. 4LTF < 0.04 < 0.04
1, 1, 1 — kU 27 oo x x> ngl 3LLF < 0. 001 < 0.001
1, 1, 2 — kU 27 mn8aoxi v ngl 0. 06LLF < 0.006 < 0.006
1, 3 — ¥ v m u 7 n < o ng/l 0. 02LF < 0.002 < 0.002
¥ 1% 7 Al me/1 0. 06LLF < 0.006 < 0.006
v < v | me/1 0. 03LF < 0.003 < 0.003
¥ # ~ N bl 2 7| mg/1 0. 2LTF < 0.02 < 0.02
~ N + s me/1 0. 1UTF < 0.01 < 0.01
t L oy kB O™ o o {4 wl wm 0. 1LUTF < 0.01 < 0.01
1 , 4 — v i e a > mg/1 0. 5LF < 0.05 < 0.05
7 = 7 — L gl me/1 5LF <0.1 <0.1
kil K (o) k& D 1t = mg/1 3LLF <0.1 <0.1
oo K v x D ft & mg/1 20T 0.12 0.04
B Mk ™ x o A& W (B %) mg/1 10LLF <10 <10
~ A kO EOEW (B W% mg/1 10LLF <0.5 <0.5
7 v A KO o {b & | wg/l 2L F < 0.1 <0.1
HA o F oK W X o bt A& | mg/l 8LLF < 0.5 < 0.5
9 K Kk o 2 o & W me/l 10LLF 0.13 <0.1




